Geometry 3313 - Review 12.1-12.2 Sine is Opposite over Kl\/
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0. Given cosA = 28/53 . Find the 5 missing trigonometric ratios for AABC
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Write an equation that will allow us to solve for x. You do NOT need to solve the equation.
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7. The following triangle is a 30-60-90 right triangle, where m<A = 30°. Fill in the pattern for this special right
triangle (we learned it in chapter 10). Use SOH-CAH-TOA to find sin A, then use your calculator to verify.
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Solve each of the following equations. Round to the nearest tenth.
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Werite an equation that will allow us to solve for x. You do NOT need to solve the equation.
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Solve each of the following equations. Round to the nearest tenth
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The following problems are Free Response. SKETCH A MODEL of the described situation, write an equation,
solve it, and answer the question. ROUND YOUR ANSWERS TO THE NEAREST TENTH.

23. A ramp inclines at a 20° angle. If the surface of the ramp is 40 feet long, what is the horizontal run of the ramp?

“f yo <€ Cos 20" = L_t% X=3%6
50
= A
x 0.939% = &
011\
N HO(O.?B‘I?V\:X Answer: 37‘6 -(‘ib

votiald
24. The angle of depression from the light in a lighthouse to a boat out at sea is 15°. The steatghtstime distance from the

boat to the light is 4,008 feet. What is the vartizat distance between the light and the boat?
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25. Find both acute angle measures in a right triangle whose legs are 12 feet and 25 feet.
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